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QUESTION 1

Which statements read the input data set SASHELP. SHOES and create the output data set WORK. TOTAL?
A. data sashalp.shoes; out work.total;

B. data sashelp.shoes; output work.total,

C. data work.total; set sashelp.shoes;

D. data out=work.total; input sasholp.shoes

Correct Answer: A

QUESTION 2

The SAS log of a submitted DATA step is shown below:

Which action resolve the error messages?

A. Remove the period after the value of Inc.

B. Enclose the value of ABC Inc . in quotation marks.

C. Add a LENGTH statement to declare the company variable as character
D. Enclose the value of ABC Inc. in parentheses.

Correct Answer: A

QUESTION 3
Which variable in the Program Data Vector represents the number of times the Data step has iterated?

A. N
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C. _Obs_
D. Obs
Correct Answer: B

https://v8doc.sas.com/sashtml/lrcon/z0961108.htm

QUESTION 4

Given the partial shown below:

Which step will produce this report?

A. proc freq data=sashelp. shoes data=sashelp.shoes; region product/ list run;
B. proc freq data=sashelp.shoes; tables region*producc / cross run;

C. proc freq data= sashelp, shoes order=freq; table region product / crosalist run;
D. proc freq data=sashelp. shoes order=freq; tables region*product / list; run;

Correct Answer: C

QUESTION 5

Given the program below:
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Why does the program fail?

A. You must use two different DATA statements for HEIGHT1 and HEIGHT2
B. You cannot output to different data sets

C. You must include the data set height2 in the DATA statement

D. You cannot use numbers in data set names.

Correct Answer: A
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